- Parts list -

Mode

FIN/MD

VIN

Sales designation
Assortment class

Market

MD mode Mod. des. overview E SEDAN

213066 Catalog Jo2
Major assembly:

E 400 4MATIC Major assembly MD

Car Group 31 - HITCHING MECHANISM

All Subgroup

015 - TRAILER COUPLING

Item no.

10

20

30

50

100

110

120

150

Part number
A 213 310 01 00

A 000 315 09 29

A 213 540 17 25

N 910105 012020

A 213 610 33 00

A 213 610 34 00

A 006 990 02 00

N 000000 003275

Designation/description
TRAILER HITCH
Code: 550
. CAP
BALL HEAD
Code: 550
. ELECTRICAL WIRING HARNESS
Code: 550
HEXAGON HEAD BOLT
TRAILER HITCH TO LONGITUDINAL
MEMBER REINFORCEMENT M12X1.5X35-10.9
M12X1.5X35-10.9
Code: 550
REINFORCEMENT
LEFT
Code: 550
REINFORCEMENT
RIGHT
Code: 550
HEXAGON HEAD BOLT
REINFORCEMENT TO SIDE MEMBER
M12X1.5X47 M12X1.5X47
Code: 550
NUT
CROSS MEMBER TO SIDE MEMBERS M10
M10

Quantity Version
001
001

001

004

001

001

002

008

Copyright Daimler AG, 7/21/17 10:32 AM, EPC 2.5.1.0, DW 07/2017 Delta 2

Page 1




